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Instructions:
1. Attempt any five questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.
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Differentiate between estimating &costing. State importance of contracting.
List and explain various elements of cost.

Define depreciation. List different methods of calculating depreciation and
explain any one of them.
A laptop producing company is daily producing 80 laptop sets. Direct material
cost is Rs. 240000 and direct labour cost is Rs 160000. Factory overheads are
40% of direct labour cost. Administrative overheads are 20% of factory cost.
Sales and distribution overheads is 30% of production cost. Selling price of a
laptop set is Rs. 10000. Find the profit per laptop set.

OR
Three operators are engaged on a machine to make total 90 jobs. Operator is
paid Rs 300 per day. Weight of each job is 2 kg and raw material cost is Rs 90
per kg. A direct overhead is Rs 3500. All other overheads are equal to prime
cost. Find out the production cost per job. If the profit per job is Rs 67, than
find out the selling price per job.

State factors effecting Gas welding cost and Arc welding cost.
Two flat plates each of 150 cm long, 10 cm wide, 1 cm thick are joined in such
a way that a plate of approximate size of 150 cmx20 cmx1l cm size is
produced. Neglecting edge preparation cost, estimate the total material cost of
welding. Assume (1) cost of O,= Rs 0.8/ m*. (2) Cost of C;H,= Rs 6/m°.
(3) Cost of filler material=Rs 2/kg.  (4) Consumption of O,=1 m*/hr.
(5) consumption of C,H,=1 m*/hr. (6) filler rod diameter=5mm. (7) length of
filler rod required=4.5m/mweld  (8) density of filler rod=8 gm/C.C. and
(9) welding speed is 2 m/hr.

OR
Define forging. Describe how different types of forging losses are estimated.
A square bar of 4cm side and 30 cm length is to be converted by hand forging
into bar of hexagonal cross section having each side equal to 3 cm. calculate
the length of hexagonal bar produced. Consider 6% scale loss of total volume.

Define pattern. Explain various types of pattern allowances.
A 20 cm x 6 cm C.I. surface is to be faced on a milling machine with a cutter
having 8 cm diameter and 12 teeth. If the cutting speed and feed are 40 m/min
and 4 cm/min respectively, determine the milling time, R.P.M. of cutter and
feed per tooth. Assume over run is 0.65 cm.
OR
Explain Break Even Point (BEP) and state its needs in industry.
List modern tools and techniques of cost reduction.
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Define Budget. List Benefits of budget.
The fixed cost of a company is Rs. 150000. Its selling price is Rs.40 per unit. If
material cost is Rs. 10/units and other variable cost is Rs. 20/units, then find
out break-even point. Company has production capacity of 20000 units. If
company produces at 85% of its capacity, than find profit of company.

OR
Explain in brief different accounts used in industrial accounting.
Explain any seven types of contract.
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